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1. The aviation industry’s financial performance is of a cyclical nature. This cyclicality means that the industry is influenced by external factors such as political, economical and sociological issues, which affect the airline’s financial performance.
According to Boeing and Airbus’ 2001-2020 market outlook, it predicts a global market growth of approximately 5.6% annually. This is based on the assumption of a linear growth based on the current market situation. This means that external factors such as changes in legislation, wars, epidemics and market economy are not considered because these factors cannot be predicted. Instead, only a forecast can take place in order for companies to gear-up for such factors to be less damaging.
The political, economical and sociological arenas are linked and have definitely played a crucial role, affecting adversely the financial performance of airlines. Current examples of these interlinked factors have been that between 2001 and 2003, which are the fight on terrorism, the SARS outbreak, the Second Gulf War and rise in oil prices per barrel.

Moreover, all these interlinked factors have had a negative impact on passengers boarding aircraft. The perception of flying was associated with terrorist attacks taking place or diseases being spread, therefore accounting for the industry’s heavy losses.
From 2002 til this present day British Airways Plc. (BA) has needed to implement drastic cost-cutting measures such as the Future Size And Shape programme (FSAS), in order to reduce it’s heavy losses. FSAS consists of making the company leaner in terms of company inputs and efficient in terms of staff output.
Staff cuts accounted for one of the major changes in its programme. Approximately 14,000 jobs were shed, replacing this where necessary by technology in order to maintain the customer service experience expected by passengers.

Another major occurrence that have affected BA’s financial performance negatively was the advent of the Low-Cost Carrier (LCC), which lost a considerable market share due to the low fares that were offered by these LCCs. 

On the other hand however, BA was able to learn from the LCCs and was able to introduce and implement new marketing concepts such as internet bookings and reservations in order to reduce commissions paid to travel agents.
2. Gross Profit

Turnover - Cost of Sales

2001


2002

7,940-7,679=261
8,278-7,711=567

Operating Profit

Gross profit + Admin Expenses

2001


2002

261+ (177)=84
567+(187)=380

Profit Before Taxation

Operating Profit + Income frm. Interests + other inc. P/L on sale of assets + Net int. pay.

2001



2002

84+65+5+159+ (308)= 5
380+54+1+(69)+(226)=127

Profit for the year

Profit before taxation + Taxation

2001



2002

5 + (15)= (10)


127 + (22)=105

Retained Profit for the year

Profit for the year + minority int. + dividends paid

2001



2002

(10) + (11) + (195)= (216)
105 + (14) + (193)= (88)

3. Operating Ratio: 
 Turnover/Cost of Sales


2001
   

2002
7940/7,679=1.03

8,278/7,711=1.07
Net Profit Margin: Operating profit/Turnover



2001


2002

84/7,940= (2.60)

380/8,278= (1.06)

Dividend Cover:
 Net profit pre-Interest Payable/Interest Payable

2001 2002

5/(15)= 1.01

127/(22)= 2.22

Dividend Yield:
 Dividend per Share/Current Share price


2001


2002

17.9/3.40= 5.26

17.9/3.20= 5.59

Interest Cover:
 Profit pre-Tax & Interest Payable/Interest Payable

2001 2002

365/320= 1.14

535/450= 1.18
4. A balance sheet shows the financial state of an airline and determines its profitability or loss at the end of a financial year. Different stakeholders such as shareholders and financial institutions amongst others need to review these balance sheets as they explain more in detail the financial health of the company.
The balance sheet will show where the funds have come from (i.e. investors, loans, etc) and where the funds have gone to (i.e. aircraft, property, equipment, etc) at that particular point in time.
5. Depreciation is a decline in the price of a tangible asset over a period of time due to ageing and/or deterioration of an aircraft. The two different accounting methods for calculating depreciation are namely: The straight line method and the declining balance method.
The straight line method is based on the payments of a tangible asset spread over the lifespan of such asset (amortization). This means that the cost of this asset is divided by its lifespan and is repaid on an annual basis over the entire period in equal amounts. I.e. An aircraft that costs M£100 and has a lifespan of ten years will depreciate by M£10 each year until the amount is fully repaid.
The declining method is based on the amortization of a tangible asset, thus reducing the book value by a fixed percentage over the lifespan of the asset. I.e. An aircraft that costs M£100 and has a lifespan of ten years will depreciate by 20% annually until the end of its lifespan.
The straight line method is the most favoured by airlines because it gives a higher level of profit in its first years of operation and it is useful when the business is expecting constant returns over the lifespan of the asset. Also, the net book value is higher than the declining method.
6. Cash flow statements, balance sheets, and profit and loss accounts are used for different purposes and describe the company’s health at a particular time or two points in time. This further enables management to make financial and/or strategic decisions in its operations.  These are each treated separately because of the different times that they are required at. 
The cash flow statement reflects any major changes on the balance sheet in a financial year, containing information on how revenue was generated to fund repayments for aircraft and loans. This information is not provided in the profit and loss or in the balance sheet.
The balance sheet will show where the funds have come from (i.e. investors, loans, etc) and where the funds have gone to (i.e. aircraft, property, equipment, etc) at that particular point in time.
The profit and loss account is a summary of the balance sheet over a period of time. This usually happens at the end of the financial year. 
The main difference between the balance sheet and the profit and loss account is that the balance sheet displays information at that particular point in time and the profit and loss account will display information at the end of a financial year and between two points in time.

7. In the airline industry, delays in cash payments affect cash flow statements because these usually take up to 90 days to process. This may affect the results on the available working capital that a company has in a given point in time.
8. In an era of globalisation, the aviation industry needs to standardise accounting principles, as well as quality and quantity of the data reported. Examples of these can be depicted in the following:

· Aircraft financing 
In some cases aircraft leases can be found on a balance sheet and in some cases are not. 
· Foreign operations & Assets

All accounting affairs conducted in a foreign country will be taxed according to foreign ownerships and may not incur the local charge

· Depreciation
Some airlines will use the different depreciation methods available to them and illustrate these differently on the balance sheet.

· Available slots in an airline’s possession
Very common for airlines to declare their slots as an asset on the balance sheet
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